	HOSPITALS			NURSING HOMES	
Appling					
Hospitals 1	Hospital Beds 49	Avg. Occupancy 74.1%	Nursing Homes 1	Nursing Home Beds 101	Avg. Occupancy 98.6%
In-Patient Days 13,260	Total Admissions 2,480	Avg. Stay <b>5.35</b>	Total Days 36,331		
Atkinson					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes	Nursing Home Beds	Avg. Occupancy
In-Patient Days	Total Admissions	Avg. Stay	Total Days		
Bacon					
Hospitals 1	Hospital Beds 47	Avg. Occupancy 31.9%	Nursing Homes 1	Nursing Home Beds 88	Avg. Occupancy 96.0%
In-Patient Days 5,475	Total Admissions 1,550	Avg. Stay <b>3.53</b>	Total Days 30,823		
Baker					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes	Nursing Home Beds	Avg. Occupancy
In-Patient Days	Total Admissions	Avg. Stay	Total Days		
Baldwin					
Hospitals 1	Hospital Beds 140	Avg. Occupancy 41.5%	Nursing Homes 3	Nursing Home Beds 216	Avg. Occupancy 87.4%
In-Patient Days 21,191	Total Admissions 4,655	Avg. Stay <b>4.55</b>	Total Days 68,940		
Banks					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes	Nursing Home Beds	Avg. Occupancy
In-Patient Days	Total Admissions	Avg. Stay	Total Days		
Barrow					
Hospitals 1	Hospital Beds 56	Avg. Occupancy 42.2%	Nursing Homes	Nursing Home Beds 163	Avg. Occupancy 92.0%
In-Patient Days 8,629	Total Admissions 2,584	Avg. Stay <b>3.34</b>	Total Days 54,718		
Bartow					
Hospitals 1	Hospital Beds 112	Avg. Occupancy 62.2%	Nursing Homes 3	Nursing Home Beds 316	Avg. Occupancy 95.0%
In-Patient Days 25,407	Total Admissions 6,402	Avg. Stay <b>3.97</b>	Total Days 109,517		
Ben Hill					
Hospitals <b>1</b>	Hospital Beds 75	Avg. Occupancy 22.8%	Nursing Homes 2	Nursing Home Beds 245	Avg. Occupancy 63.6%
In-Patient Days 6,238	Total Admissions 1,846	Avg. Stay <b>3.38</b>	Total Days <b>56,911</b>		

	HOSPITALS			NURSING HOMES	
Berrien					
Hospitals 1	Hospital Beds 63	Avg. Occupancy 14.3%	Nursing Homes 1	Nursing Home Beds 108	Avg. Occupancy 99.4%
In-Patient Days 3,297	Total Admissions 763	Avg. Stay 4.32	Total Days 39,203		
Bibb					
Hospitals 3	Hospital Beds 990	Avg. Occupancy 59.0%	Nursing Homes 10	Nursing Home Beds 1,304	Avg. Occupancy 75.6%
In-Patient Days 213,151	Total Admissions 39,670	Avg. Stay <b>5.37</b>	Total Days 359,713		
Bleckley					
Hospitals	Hospital Beds 64	Avg. Occupancy 8.6%	Nursing Homes 1	Nursing Home Beds 75	Avg. Occupancy 73.6%
In-Patient Days 2,002	Total Admissions 497	Avg. Stay <b>4.03</b>	Total Days 20,143		
Brantley					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 1	Nursing Home Beds 63	Avg. Occupancy 93.6%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 21,518		
Brooks					
Hospitals 1	Hospital Beds 45	Avg. Occupancy 36.1%	Nursing Homes 1	Nursing Home Beds 188	Avg. Occupancy 97.3%
In-Patient Days 5,925	Total Admissions 631	Avg. Stay <b>9.39</b>	Total Days 66,762		
Bryan					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 1	Nursing Home Beds 100	Avg. Occupancy 97.1%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 35,450		
Bulloch					
Hospitals 1	Hospital Beds 150	Avg. Occupancy 56.4%	Nursing Homes 4	Nursing Home Beds 314	Avg. Occupancy 72.6%
In-Patient Days 30,871	Total Admissions 8,324	Avg. Stay <b>3.71</b>	Total Days 83,253		
Burke					
Hospitals 1	Hospital Beds 40	Avg. Occupancy 37.4%	Nursing Homes 2	Nursing Home Beds 167	Avg. Occupancy 88.7%
In-Patient Days 5,458	Total Admissions 1,680	Avg. Stay <b>3.25</b>	Total Days 54,096		
Butts					
Hospitals 1	Hospital Beds 28	Avg. Occupancy 97.0%	Nursing Homes	Nursing Home Beds 196	Avg. Occupancy 89.5%
In-Patient Days 9,914	Total Admissions 944	Avg. Stay 10.50	Total Days 64,043		

	HOSPITALS			NURSING HOMES	
Calhoun					
Hospitals	Hospital Beds 40	Avg. Occupancy 12.3%	Nursing Homes 1	Nursing Home Beds 60	Avg. Occupancy 84.3%
In-Patient Days 1,796	Total Admissions 408	Avg. Stay <b>4.40</b>	Total Days 18,462		
Camden					
Hospitals	Hospital Beds 40	Avg. Occupancy 39.9%	Nursing Homes 1	Nursing Home Beds 78	Avg. Occupancy 66.4%
In-Patient Days 5,831	Total Admissions 1,923	Avg. Stay <b>3.03</b>	Total Days 18,917		
Candler					
Hospitals 1	Hospital Beds 60	Avg. Occupancy 23.1%	Nursing Homes 3	Nursing Home Beds 298	Avg. Occupancy 82.9%
In-Patient Days 5,052	Total Admissions 1,041	Avg. Stay <b>4.85</b>	Total Days 90,125		
Carroll					
Hospitals 2	Hospital Beds 273	Avg. Occupancy 46.7%	Nursing Homes 5	Nursing Home Beds 443	Avg. Occupancy 72.0%
In-Patient Days 46,582	Total Admissions 12,491	Avg. Stay <b>3.73</b>	Total Days 116,390		
Catoosa					
Hospitals 1	Hospital Beds 179	Avg. Occupancy 26.5%	Nursing Homes 3	Nursing Home Beds 271	Avg. Occupancy 84.7%
In-Patient Days 17,311	Total Admissions 4,421	Avg. Stay <b>3.92</b>	Total Days 83,737		
Charlton					
Hospitals 1	Hospital Beds 50	Avg. Occupancy 14.6%	Nursing Homes 1	Nursing Home Beds 92	Avg. Occupancy 86.0%
In-Patient Days 2,661	Total Admissions 381	Avg. Stay <b>6.98</b>	Total Days 28,865		
Chatham					
Hospitals 3	Hospital Beds 1,137	Avg. Occupancy 63.9%	Nursing Homes 13	Nursing Home Beds 1,216	Avg. Occupancy 82.8%
In-Patient Days 265,285	Total Admissions 48,716	Avg. Stay <b>5.45</b>	Total Days <b>367,366</b>		
Chattahooche	ee				
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 0	Nursing Home Beds	Avg. Occupancy
In-Patient Days	Total Admissions	Avg. Stay	Total Days		
Chattooga					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes	Nursing Home Beds 151	Avg. Occupancy 95.6%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 52,666		

	HOSPITALS			NURSING HOMES	
Cherokee					
Hospitals 1	Hospital Beds 84	Avg. Occupancy 54.5%	Nursing Homes	Nursing Home Beds 371	Avg. Occupancy 89.2%
In-Patient Days 16,711	Total Admissions 4,475	Avg. Stay <b>3.73</b>	Total Days 120,795		
Clarke					
Hospitals 2	Hospital Beds 555	Avg. Occupancy 57.5%	Nursing Homes 4	Nursing Home Beds 446	Avg. Occupancy 91.1%
In-Patient Days 116,397	Total Admissions 26,668	Avg. Stay 4.36	Total Days 148,225		
Clay					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 1	Nursing Home Beds 60	Avg. Occupancy 96.0%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 21,021		
Clayton					
Hospitals 1	Hospital Beds <b>361</b>	Avg. Occupancy 57.2%	Nursing Homes 4	Nursing Home Beds 639	Avg. Occupancy 93.9%
In-Patient Days 75,307	Total Admissions 15,600	Avg. Stay <b>4.83</b>	Total Days 218,956		
Clinch					
Hospitals 1	Hospital Beds 25	Avg. Occupancy 20.3%	Nursing Homes 1	Nursing Home Beds 92	Avg. Occupancy 86.7%
In-Patient Days 1,853	Total Admissions 423	Avg. Stay 4.38	Total Days 29,110		
Cobb					
Hospitals 3	Hospital Beds 1,103	Avg. Occupancy 65.9%	Nursing Homes 13	Nursing Home Beds 1,733	Avg. Occupancy 82.7%
In-Patient Days 265,215	Total Admissions 57,163	Avg. Stay <b>4.64</b>	Total Days 523,424		
Coffee					
Hospitals 1	Hospital Beds 88	Avg. Occupancy 60.1%	Nursing Homes 1	Nursing Home Beds 168	Avg. Occupancy 80.8%
In-Patient Days 19,318	Total Admissions 5,568	Avg. Stay <b>3.47</b>	Total Days 49,560		
Colquitt					
Hospitals 1	Hospital Beds 155	Avg. Occupancy 28.4%	Nursing Homes 4	Nursing Home Beds 287	Avg. Occupancy 92.4%
In-Patient Days 16,094	Total Admissions 4,153	Avg. Stay <b>3.88</b>	Total Days 96,787		
Columbia					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes	Nursing Home Beds 314	Avg. Occupancy 80.5%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 92,257		

	HOSPITALS			NURSING HOMES	
Cook					
Hospitals 1	Hospital Beds 60	Avg. Occupancy 16.0%	Nursing Homes 1	Nursing Home Beds 95	Avg. Occupancy 84.6%
In-Patient Days 3,501	Total Admissions 1,133	Avg. Stay <b>3.09</b>	Total Days 29,333		
Coweta					
Hospitals 1	Hospital Beds 143	Avg. Occupancy 46.3%	Nursing Homes 2	Nursing Home Beds 260	Avg. Occupancy 79.8%
In-Patient Days 24,158	Total Admissions 5,974	Avg. Stay 4.04	Total Days 75,775		
Crawford					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 1	Nursing Home Beds 100	Avg. Occupancy 73.4%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 26,794		
Crisp					
Hospitals 1	Hospital Beds 65	Avg. Occupancy 52.1%	Nursing Homes 2	Nursing Home Beds 243	Avg. Occupancy 82.1%
In-Patient Days 12,369	Total Admissions 2,963	Avg. Stay <b>4.17</b>	Total Days 72,843		
Dade					
Hospitals 1	Hospital Beds 39	Avg. Occupancy 4.8%	Nursing Homes 1	Nursing Home Beds 71	Avg. Occupancy 65.8%
In-Patient Days <b>690</b>	Total Admissions 71	Avg. Stay <b>9.72</b>	Total Days 17,053		
Dawson					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 0	Nursing Home Beds	Avg. Occupancy
In-Patient Days	Total Admissions	Avg. Stay	Total Days		
Decatur					
Hospitals 1	Hospital Beds 80	Avg. Occupancy 81.7%	Nursing Homes 2	Nursing Home Beds 207	Avg. Occupancy 95.5%
In-Patient Days 23,866	Total Admissions 5,086	Avg. Stay <b>4.69</b>	Total Days 72,138		
DeKalb					
Hospitals 7	Hospital Beds 1,675	Avg. Occupancy 61.6%	Nursing Homes 16	Nursing Home Beds 2,368	Avg. Occupancy 83.7%
In-Patient Days 376,409	Total Admissions 63,780	Avg. Stay <b>5.90</b>	Total Days 723,846		
Dodge					
Hospitals 1	Hospital Beds 94	Avg. Occupancy 22.1%	Nursing Homes 2	Nursing Home Beds 200	Avg. Occupancy 85.6%
In-Patient Days 7,593	Total Admissions 2,190	Avg. Stay 3.47	Total Days 62,507		

	HOSPITALS			NURSING HOMES	
Dooly					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 1	Nursing Home Beds 102	Avg. Occupancy 74.0%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 27,540		
Dougherty					
Hospitals 2	Hospital Beds 690	Avg. Occupancy 42.0%	Nursing Homes 2	Nursing Home Beds 502	Avg. Occupancy 74.1%
In-Patient Days 105,727	Total Admissions 20,008	Avg. Stay <b>5.28</b>	Total Days 135,830		
Douglas					
Hospitals 1	Hospital Beds 108	Avg. Occupancy 68.4%	Nursing Homes 1	Nursing Home Beds 246	Avg. Occupancy 94.2%
In-Patient Days 26,980	Total Admissions 6,545	Avg. Stay 4.12	Total Days 84,538		
Early					
Hospitals 1	Hospital Beds 49	Avg. Occupancy 20.5%	Nursing Homes 1	Nursing Home Beds 127	Avg. Occupancy 66.9%
In-Patient Days 3,667	Total Admissions 336	Avg. Stay 10.91	Total Days 31,004		
Echols					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 0	Nursing Home Beds	Avg. Occupancy
In-Patient Days	Total Admissions	Avg. Stay	Total Days		
Effingham					
Hospitals 1	Hospital Beds 45	Avg. Occupancy 10.0%	Nursing Homes 1	Nursing Home Beds 105	Avg. Occupancy 97.6%
In-Patient Days 1,637	Total Admissions 290	Avg. Stay <b>5.64</b>	Total Days 37,408		
Elbert					
Hospitals 1	Hospital Beds 52	Avg. Occupancy 28.8%	Nursing Homes	Nursing Home Beds 187	Avg. Occupancy 88.6%
In-Patient Days 5,467	Total Admissions 1,530	Avg. Stay <b>3.57</b>	Total Days 60,453		
Emanuel					
Hospitals 1	Hospital Beds 72	Avg. Occupancy 23.3%	Nursing Homes 3	Nursing Home Beds 262	Avg. Occupancy 90.1%
In-Patient Days 6,130	Total Admissions 1,803	Avg. Stay <b>3.40</b>	Total Days 86,210		
Evans					
Hospitals 1	Hospital Beds 49	Avg. Occupancy 22.4%	Nursing Homes	Nursing Home Beds 87	Avg. Occupancy 62.3%
In-Patient Days 3,998	Total Admissions 1,106	Avg. Stay <b>3.61</b>	Total Days 19,792		

	HOSPITALS			NURSING HOMES	
Fannin					
Hospitals 1	Hospital Beds 50	Avg. Occupancy 38.4%	Nursing Homes 1	Nursing Home Beds 101	Avg. Occupancy 70.9%
In-Patient Days 7,008	Total Admissions 2,410	Avg. Stay <b>2.91</b>	Total Days 26,136		
Fayette					
Hospitals 1	Hospital Beds 143	Avg. Occupancy 76.6%	Nursing Homes 2	Nursing Home Beds 334	Avg. Occupancy 95.0%
In-Patient Days 39,967	Total Admissions 9,731	Avg. Stay 4.11	Total Days 115,777		
Floyd					
Hospitals 2	Hospital Beds 534	Avg. Occupancy 67.2%	Nursing Homes 7	Nursing Home Beds 700	Avg. Occupancy 83.5%
In-Patient Days 130,915	Total Admissions 24,912	Avg. Stay <b>5.26</b>	Total Days 213,406		
Forsyth					
Hospitals	Hospital Beds 155	Avg. Occupancy 75.0%	Nursing Homes 2	Nursing Home Beds 237	Avg. Occupancy 96.6%
In-Patient Days 42,407	Total Admissions 10,096	Avg. Stay <b>4.20</b>	Total Days 83,545		
Franklin					
Hospitals 1	Hospital Beds 71	Avg. Occupancy 23.2%	Nursing Homes 1	Nursing Home Beds 144	Avg. Occupancy 81.8%
In-Patient Days 6,009	Total Admissions 1,438	Avg. Stay <b>4.18</b>	Total Days 42,984		
Fulton					
Hospitals	Hospital Beds 4,338	Avg. Occupancy 56.6%	Nursing Homes 20	Nursing Home Beds 3,075	Avg. Occupancy 79.8%
In-Patient Days 896,526	Total Admissions 168,343	Avg. Stay <b>5.33</b>	Total Days <b>895</b> ,464		
Gilmer					
Hospitals 1	Hospital Beds 28	Avg. Occupancy 41.0%	Nursing Homes 1	Nursing Home Beds 100	Avg. Occupancy 98.7%
In-Patient Days 4,194	Total Admissions 992	Avg. Stay <b>4.23</b>	Total Days 36,035		
Glascock					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 1	Nursing Home Beds 104	Avg. Occupancy 80.0%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 30,373		
Glynn					
Hospitals 1	Hospital Beds 300	Avg. Occupancy 49.6%	Nursing Homes 5	Nursing Home Beds 505	Avg. Occupancy 58.6%
In-Patient Days 54,317	Total Admissions 11,193	Avg. Stay 4.85	Total Days 107,955		

	HOSPITALS			NURSING HOMES	
Gordon					
Hospitals 1	Hospital Beds 69	Avg. Occupancy 61.0%	Nursing Homes 2	Nursing Home Beds 217	Avg. Occupancy 97.1%
In-Patient Days 15,373	Total Admissions 3,716	Avg. Stay 4.14	Total Days 76,895		
Grady					
Hospitals 1	Hospital Beds 60	Avg. Occupancy 29.1%	Nursing Homes 1	Nursing Home Beds 142	Avg. Occupancy 53.8%
In-Patient Days 6,376	Total Admissions 1,346	Avg. Stay 4.74	Total Days 27,871		
Greene					
Hospitals 1	Hospital Beds 49	Avg. Occupancy 13.7%	Nursing Homes 2	Nursing Home Beds 100	Avg. Occupancy 90.1%
In-Patient Days 2,459	Total Admissions 493	Avg. Stay <b>4.99</b>	Total Days 32,880		
Gwinnett					
Hospitals 3	Hospital Beds 771	Avg. Occupancy 59.6%	Nursing Homes 10	Nursing Home Beds 1,164	Avg. Occupancy 94.1%
In-Patient Days 167,708	Total Admissions 34,997	Avg. Stay <b>4.79</b>	Total Days <b>399</b> ,862		
Habersham					
Hospitals 1	Hospital Beds 53	Avg. Occupancy 42.4%	Nursing Homes 2	Nursing Home Beds 232	Avg. Occupancy 95.8%
In-Patient Days 8,203	Total Admissions 2,442	Avg. Stay <b>3.36</b>	Total Days 81,086		
Hall					
Hospitals 1	Hospital Beds 557	Avg. Occupancy 58.4%	Nursing Homes 5	Nursing Home Beds 569	Avg. Occupancy 76.4%
In-Patient Days 118,748	Total Admissions 27,573	Avg. Stay <b>4.31</b>	Total Days 158,703		
Hancock					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 2	Nursing Home Beds 152	Avg. Occupancy 72.9%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 40,472		
Haralson					
Hospitals 1	Hospital Beds 57	Avg. Occupancy 13.8%	Nursing Homes 3	Nursing Home Beds 242	Avg. Occupancy 85.6%
In-Patient Days 2,868	Total Admissions 834	Avg. Stay <b>3.44</b>	Total Days 75,603		
Harris					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes	Nursing Home Beds 100	Avg. Occupancy 92.3%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 33,699		

	HOSPITALS			NURSING HOMES	
Hart					
Hospitals 1	Hospital Beds 82	Avg. Occupancy 15.2%	Nursing Homes 2	Nursing Home Beds 209	Avg. Occupancy 98.0%
In-Patient Days 4,554	Total Admissions 1,020	Avg. Stay 4.46	Total Days 74,730		
Heard					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 1	Nursing Home Beds 78	Avg. Occupancy 91.0%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 25,905		
Henry					
Hospitals	Hospital Beds 215	Avg. Occupancy 63.0%	Nursing Homes 2	Nursing Home Beds 299	Avg. Occupancy 63.4%
In-Patient Days 49,449	Total Admissions 11,974	Avg. Stay <b>4.13</b>	Total Days 69,151		
Houston					
Hospitals 2	Hospital Beds 282	Avg. Occupancy 64.6%	Nursing Homes 5	Nursing Home Beds 507	Avg. Occupancy 93.6%
In-Patient Days 66,453	Total Admissions 14,546	Avg. Stay <b>4.57</b>	Total Days 173,222		
Irwin					
Hospitals 1	Hospital Beds 34	Avg. Occupancy 29.5%	Nursing Homes 2	Nursing Home Beds 113	Avg. Occupancy 84.4%
In-Patient Days 3,667	Total Admissions 1,349	Avg. Stay 2.72	Total Days 34,811		
Jackson					
Hospitals 1	Hospital Beds 90	Avg. Occupancy 16.7%	Nursing Homes 2	Nursing Home Beds 237	Avg. Occupancy 95.9%
In-Patient Days 5,492	Total Admissions 1,523	Avg. Stay <b>3.61</b>	Total Days 83,001		
Jasper					
Hospitals 1	Hospital Beds 17	Avg. Occupancy 15.5%	Nursing Homes 1	Nursing Home Beds 55	Avg. Occupancy 98.8%
In-Patient Days 962	Total Admissions 152	Avg. Stay <b>6.33</b>	Total Days 19,832		
Jeff Davis					
Hospitals 1	Hospital Beds 50	Avg. Occupancy 19.2%	Nursing Homes 1	Nursing Home Beds 73	Avg. Occupancy 92.9%
In-Patient Days 3,502	Total Admissions 1,065	Avg. Stay <b>3.29</b>	Total Days 24,742		
Jefferson					
Hospitals 1	Hospital Beds 65	Avg. Occupancy 18.3%	Nursing Homes 2	Nursing Home Beds 241	Avg. Occupancy 87.4%
In-Patient Days 4,340	Total Admissions 1,112	Avg. Stay <b>3.90</b>	Total Days 76,866		

	HOSPITALS			NURSING HOMES	
Jenkins					
Hospitals 1	Hospital Beds 40	Avg. Occupancy 11.4%	Nursing Homes 1	Nursing Home Beds 100	Avg. Occupancy 85.1%
In-Patient Days 1,667	Total Admissions 544	Avg. Stay <b>3.06</b>	Total Days 31,075		
Johnson					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 2	Nursing Home Beds 153	Avg. Occupancy 88.3%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 49,321		
Jones					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 2	Nursing Home Beds 162	Avg. Occupancy 88.9%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 52,557		
Lamar					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 1	Nursing Home Beds 117	Avg. Occupancy 92.2%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 39,364		
Lanier					
Hospitals 1	Hospital Beds 40	Avg. Occupancy 28.8%	Nursing Homes	Nursing Home Beds 62	Avg. Occupancy 91.3%
In-Patient Days 4,201	Total Admissions 529	Avg. Stay <b>7.94</b>	Total Days 20,665		
Laurens					
Hospitals 1	Hospital Beds 190	Avg. Occupancy 33.1%	Nursing Homes 3	Nursing Home Beds 380	Avg. Occupancy 89.6%
In-Patient Days 22,979	Total Admissions 6,320	Avg. Stay <b>3.64</b>	Total Days 124,264		
Lee					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 1	Nursing Home Beds 60	Avg. Occupancy 96.4%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 21,102		
Liberty					
Hospitals <b>1</b>	Hospital Beds 32	Avg. Occupancy 36.1%	Nursing Homes 1	Nursing Home Beds 169	Avg. Occupancy 8.9%
In-Patient Days 4,222	Total Admissions 1,405	Avg. Stay 3.00	Total Days 5,483		
Lincoln					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes	Nursing Home Beds	Avg. Occupancy ?
In-Patient Days	Total Admissions	Avg. Stay	Total Days		

	HOSPITALS			NURSING HOMES	
Long					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 1	Nursing Home Beds 108	Avg. Occupancy 91.0%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 35,857		
Lowndes					
Hospitals 2	Hospital Beds 376	Avg. Occupancy 62.4%	Nursing Homes 4	Nursing Home Beds 367	Avg. Occupancy 84.2%
In-Patient Days 85,675	Total Admissions 18,700	Avg. Stay <b>4.58</b>	Total Days 112,746		
Lumpkin					
Hospitals	Hospital Beds 52	Avg. Occupancy 33.6%	Nursing Homes 1	Nursing Home Beds 102	Avg. Occupancy 88.0%
In-Patient Days 6,374	Total Admissions 1,927	Avg. Stay <b>3.31</b>	Total Days 32,746		
McDuffie					
Hospitals 1	Hospital Beds 47	Avg. Occupancy 44.4%	Nursing Homes 1	Nursing Home Beds 150	Avg. Occupancy 91.4%
In-Patient Days 7,614	Total Admissions 1,996	Avg. Stay <b>3.81</b>	Total Days 50,035		
McIntosh					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 0	Nursing Home Beds	Avg. Occupancy
In-Patient Days	Total Admissions	Avg. Stay	Total Days		
Macon					
Hospitals 1	Hospital Beds 50	Avg. Occupancy 16.8%	Nursing Homes 3	Nursing Home Beds 248	Avg. Occupancy 83.9%
In-Patient Days 3,060	Total Admissions 839	Avg. Stay <b>3.65</b>	Total Days 75,957		
Madison					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 1	Nursing Home Beds 116	Avg. Occupancy 79.4%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 33,608		
Marion					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 1	Nursing Home Beds 70	Avg. Occupancy 87.1%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 22,265		
Meriwether					
Hospitals 1	Hospital Beds 38	Avg. Occupancy 16.0%	Nursing Homes 2	Nursing Home Beds 192	Avg. Occupancy 78.6%
In-Patient Days 2,214	Total Admissions 569	Avg. Stay 3.89	Total Days 55,056		

Н	OSPITALS			NURSING HOMES	
Miller					
Hospitals I <b>1</b>	Hospital Beds Avg. Od 38	61.2%	ursing Homes <b>1</b>	Nursing Home Beds 97	Avg. Occupancy 90.0%
In-Patient Days Tot 8,488	al Admissions 1,688	Avg. Stay 5.03	Total Days 31,855		
Mitchell					
1	33	44.2%	2	Nursing Home Beds 156	Avg. Occupancy 99.0%
In-Patient Days Tot 5,329	al Admissions 468	Avg. Stay 11.39	Total Days 56,355		
Monroe					
Hospitals I 1	Hospital Beds Avg. Od 40	ccupancy No. 14.2%	ursing Homes 3	Nursing Home Beds 275	Avg. Occupancy 85.6%
In-Patient Days Tot 2,070	al Admissions 498	Avg. Stay 4.16	Total Days 85,969		
Montgomery					
Hospitals I	Hospital Beds Avg. Od	ccupancy N	ursing Homes 0	Nursing Home Beds	Avg. Occupancy
In-Patient Days Tot	al Admissions	Avg. Stay	Total Days		
Morgan					
Hospitals I <b>1</b>	Hospital Beds Avg. Od 25	45.9%	ursing Homes 2	Nursing Home Beds 88	Avg. Occupancy 91.1%
In-Patient Days Tot 4,184	al Admissions 362	Avg. Stay 11.56	Total Days 29,264		
Murray					
Hospitals I <b>1</b>	Hospital Beds Avg. Od 29	32.5%	ursing Homes <b>1</b>	Nursing Home Beds 120	Avg. Occupancy 56.3%
In-Patient Days Tot 3,435	al Admissions 979	Avg. Stay 3.51	Total Days 24,658		
Muscogee					
Hospitals I	Hospital Beds Avg. Od 1,109	ccupancy No.	ursing Homes 6	Nursing Home Beds 1,066	Avg. Occupancy 81.2%
In-Patient Days Tot 180,273	al Admissions 35,335	Avg. Stay 5.10	Total Days 315,994		
Newton					
Hospitals I <b>1</b>	Hospital Beds Avg. Od 97	51.9%	ursing Homes 2	Nursing Home Beds 230	Avg. Occupancy 95.7%
In-Patient Days Tot 18,390	al Admissions 5,550	Avg. Stay 3.31	Total Days 80,325		
Oconee					
Hospitals I	Hospital Beds Avg. Od	ccupancy N	ursing Homes <b>1</b>	Nursing Home Beds 100	Avg. Occupancy 82.6%
In-Patient Days Tot	al Admissions	Avg. Stay	Total Days 30,131		

	HOSPITALS			NURSING HOMES	
Oglethorpe					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 1	Nursing Home Beds 61	Avg. Occupancy 99.8%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 22,212		
Paulding					
Hospitals 1	Hospital Beds 83	Avg. Occupancy 19.6%	Nursing Homes	Nursing Home Beds 182	Avg. Occupancy 96.7%
In-Patient Days 5,949	Total Admissions 1,911	Avg. Stay <b>3.11</b>	Total Days 64,212		
Peach					
Hospitals 1	Hospital Beds 25	Avg. Occupancy 29.3%	Nursing Homes	Nursing Home Beds 75	Avg. Occupancy 93.1%
In-Patient Days 2,677	Total Admissions 669	Avg. Stay 4.00	Total Days 25,473		
Pickens					
Hospitals 1	Hospital Beds 42	Avg. Occupancy 63.6%	Nursing Homes	Nursing Home Beds 164	Avg. Occupancy 95.9%
In-Patient Days 9,749	Total Admissions 2,605	Avg. Stay <b>3.74</b>	Total Days 57,425		
Pierce					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 1	Nursing Home Beds 78	Avg. Occupancy 85.1%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 24,240		
Pike					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 1	Nursing Home Beds 64	Avg. Occupancy 80.6%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 18,822		
Polk					
Hospitals 1	Hospital Beds 53	Avg. Occupancy 7.3%	Nursing Homes	Nursing Home Beds 289	Avg. Occupancy 85.6%
In-Patient Days 1,421	Total Admissions 466	Avg. Stay <b>3.05</b>	Total Days 90,329		
Pulaski					
Hospitals 1	Hospital Beds 55	Avg. Occupancy 34.8%	Nursing Homes	Nursing Home Beds 102	Avg. Occupancy 96.1%
In-Patient Days 6,989	Total Admissions 2,088	Avg. Stay <b>3.35</b>	Total Days 35,762		
Putnam					
Hospitals 1	Hospital Beds 50	Avg. Occupancy 10.2%	Nursing Homes	Nursing Home Beds 104	Avg. Occupancy 73.1%
In-Patient Days 1,863	Total Admissions 697	Avg. Stay 2.67	Total Days 27,743		

	HOSPITALS			NURSING HOMES	
Quitman					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes	Nursing Home Beds	Avg. Occupancy
In-Patient Days	Total Admissions	Avg. Stay	Total Days		
Rabun					
Hospitals 1	Hospital Beds 49	Avg. Occupancy 12.9%	Nursing Homes 1	Nursing Home Beds 117	Avg. Occupancy 59.0%
In-Patient Days 2,305	Total Admissions 643	Avg. Stay <b>3.58</b>	Total Days 25,216		
Randolph					
Hospitals 1	Hospital Beds 40	Avg. Occupancy 14.2%	Nursing Homes 1	Nursing Home Beds 80	Avg. Occupancy 87.4%
In-Patient Days 2,069	Total Admissions 320	Avg. Stay <b>6.47</b>	Total Days 25,507		
Richmond					
Hospitals 4	Hospital Beds 1,823	Avg. Occupancy 43.4%	Nursing Homes 9	Nursing Home Beds 1,038	Avg. Occupancy 77.9%
In-Patient Days 288,902	Total Admissions 59,371	Avg. Stay <b>4.87</b>	Total Days <b>295,110</b>		
Rockdale					
Hospitals 1	Hospital Beds 138	Avg. Occupancy 65.0%	Nursing Homes 2	Nursing Home Beds 275	Avg. Occupancy 81.7%
In-Patient Days 32,740	Total Admissions 8,452	Avg. Stay <b>3.87</b>	Total Days 81,989		
Schley					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes	Nursing Home Beds	Avg. Occupancy
In-Patient Days	Total Admissions	Avg. Stay	Total Days		
Screven					
Hospitals 1	Hospital Beds 49	Avg. Occupancy 9.0%	Nursing Homes 1	Nursing Home Beds 128	Avg. Occupancy 89.4%
In-Patient Days 1,613	Total Admissions 419	Avg. Stay <b>3.85</b>	Total Days 41,782		
Seminole					
Hospitals 1	Hospital Beds 65	Avg. Occupancy 67.3%	Nursing Homes 1	Nursing Home Beds 75	Avg. Occupancy 57.2%
In-Patient Days 15,958	Total Admissions 4,374	Avg. Stay <b>3.65</b>	Total Days 15,665		
Spalding					
Hospitals 1	Hospital Beds 160	Avg. Occupancy 136.3%	Nursing Homes 3	Nursing Home Beds 350	Avg. Occupancy 92.2%
In-Patient Days 79,572	Total Admissions 17,924	Avg. Stay 4.44	Total Days 117,754		

	HOSPITALS			NURSING HOMES	
Stephens					
Hospitals 1	Hospital Beds 95	Avg. Occupancy 43.8%	Nursing Homes 1	Nursing Home Beds 181	Avg. Occupancy 92.8%
In-Patient Days 15,177	Total Admissions 4,046	Avg. Stay <b>3.75</b>	Total Days 61,293		
Stewart					
Hospitals 1	Hospital Beds 32	Avg. Occupancy 21.4%	Nursing Homes 1	Nursing Home Beds 85	Avg. Occupancy 86.1%
In-Patient Days 2,502	Total Admissions 541	Avg. Stay 4.62	Total Days 26,708		
Sumter					
Hospitals	Hospital Beds 143	Avg. Occupancy 12.1%	Nursing Homes 2	Nursing Home Beds 338	Avg. Occupancy 66.5%
In-Patient Days 6,321	Total Admissions 1,923	Avg. Stay <b>3.29</b>	Total Days 82,084		
Talbot					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes	Nursing Home Beds	Avg. Occupancy
In-Patient Days	Total Admissions	Avg. Stay	Total Days		
Taliaferro					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes	Nursing Home Beds	Avg. Occupancy
In-Patient Days	Total Admissions	Avg. Stay	Total Days		
Tattnall					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 2	Nursing Home Beds 252	Avg. Occupancy 84.6%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 77,776		
Taylor					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 1	Nursing Home Beds 78	Avg. Occupancy 82.5%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 23,479		
Telfair					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 2	Nursing Home Beds 219	Avg. Occupancy 92.6%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 73,999		
Terrell					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes	Nursing Home Beds 74	Avg. Occupancy 96.9%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 26,179		

	HOSPITALS			NURSING HOMES	
Thomas					
Hospitals 1	Hospital Beds 264	Avg. Occupancy 60.3%	Nursing Homes 4	Nursing Home Beds 267	Avg. Occupancy 96.8%
In-Patient Days 58,085	Total Admissions 10,447	Avg. Stay <b>5.56</b>	Total Days 94,326		
Tift					
Hospitals	Hospital Beds 176	Avg. Occupancy 70.0%	Nursing Homes	Nursing Home Beds 293	Avg. Occupancy 88.3%
In-Patient Days 44,993	Total Admissions 10,385	Avg. Stay <b>4.33</b>	Total Days 94,397		
Toombs					
Hospitals 1	Hospital Beds 57	Avg. Occupancy 53.2%	Nursing Homes 3	Nursing Home Beds 347	Avg. Occupancy 80.7%
In-Patient Days 11,073	Total Admissions 3,643	Avg. Stay <b>3.04</b>	Total Days 102,214		
Towns					
Hospitals 1	Hospital Beds 42	Avg. Occupancy 12.9%	Nursing Homes 1	Nursing Home Beds 112	Avg. Occupancy 95.1%
In-Patient Days 1,978	Total Admissions 527	Avg. Stay <b>3.75</b>	Total Days 38,887		
Treutlen					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 1	Nursing Home Beds 50	Avg. Occupancy 97.6%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 17,814		
Troup					
Hospitals 1	Hospital Beds 276	Avg. Occupancy 29.9%	Nursing Homes 3	Nursing Home Beds 404	Avg. Occupancy 93.9%
In-Patient Days 30,087	Total Admissions 8,228	Avg. Stay <b>3.66</b>	Total Days 138,429		
Turner					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 1	Nursing Home Beds 76	Avg. Occupancy 90.4%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 25,080		
Twiggs					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 1	Nursing Home Beds 131	Avg. Occupancy 64.7%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 30,938		
Union					
Hospitals 1	Hospital Beds 45	Avg. Occupancy 45.6%	Nursing Homes 1	Nursing Home Beds 150	Avg. Occupancy 97.5%
In-Patient Days 7,494	Total Admissions 2,246	Avg. Stay 3.34	Total Days 53,391		

	HOSPITALS			NURSING HOMES	
Upson					
Hospitals 1	Hospital Beds 115	Avg. Occupancy 39.2%	Nursing Homes	Nursing Home Beds 302	Avg. Occupancy 86.5%
In-Patient Days 16,469	Total Admissions 4,407	Avg. Stay 3.74	Total Days 95,366		
Walker					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 4	Nursing Home Beds 433	Avg. Occupancy 89.4%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 141,328		
Walton					
Hospitals	Hospital Beds 77	Avg. Occupancy 42.1%	Nursing Homes 3	Nursing Home Beds 230	Avg. Occupancy 94.3%
In-Patient Days 11,842	Total Admissions 3,588	Avg. Stay <b>3.30</b>	Total Days 79,152		
Ware					
Hospitals	Hospital Beds 231	Avg. Occupancy 43.1%	Nursing Homes	Nursing Home Beds 442	Avg. Occupancy 89.1%
In-Patient Days 36,375	Total Admissions 7,568	Avg. Stay <b>4.81</b>	Total Days 143,774		
Warren					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 1	Nursing Home Beds 110	Avg. Occupancy 69.8%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 28,015		
Washington					
Hospitals	Hospital Beds 56	Avg. Occupancy 50.5%	Nursing Homes 4	Nursing Home Beds 226	Avg. Occupancy 93.3%
In-Patient Days 10,312	Total Admissions 2,130	Avg. Stay <b>4.84</b>	Total Days <b>76,981</b>		
Wayne					
Hospitals 1	Hospital Beds <b>84</b>	Avg. Occupancy 45.7%	Nursing Homes 3	Nursing Home Beds 224	Avg. Occupancy 91.1%
In-Patient Days 14,013	Total Admissions 3,546	Avg. Stay <b>3.95</b>	Total Days 74,501		
Webster					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes	Nursing Home Beds	Avg. Occupancy
In-Patient Days	Total Admissions	Avg. Stay	Total Days		
Wheeler			<u>.</u>		
Hospitals 1	Hospital Beds 40	Avg. Occupancy 26.7%	Nursing Homes 1	Nursing Home Beds 62	Avg. Occupancy 47.4%
In-Patient Days 3,896	Total Admissions 959	Avg. Stay <b>4.06</b>	Total Days 10,721		

Report created by Georgia Board for Physician Workforce, State of Georgia

	NURSING HOMES			HOSPITALS	
					White
Avg. Occupancy 90.9%	Nursing Home Beds 149	Nursing Homes 2	Avg. Occupancy	Hospital Beds	Hospitals 0
		Total Days 49,420	Avg. Stay	Total Admissions	In-Patient Days
					Whitfield
Avg. Occupancy 91.7%	Nursing Home Beds 404	Nursing Homes 4	Avg. Occupancy 47.9%	Hospital Beds 282	Hospitals 1
		Total Days 135,170	Avg. Stay 4.45	Total Admissions 11,068	In-Patient Days 49,255
					Wilcox
Avg. Occupancy 77.9%	Nursing Home Beds 203	Nursing Homes 2	Avg. Occupancy	Hospital Beds	Hospitals 0
		Total Days 57,726	Avg. Stay	Total Admissions	In-Patient Days
					Wilkes
Avg. Occupancy 93.5%	Nursing Home Beds 47	Nursing Homes 1	Avg. Occupancy 148.0%	Hospital Beds 25	Hospitals 1
		Total Days 16,039	Avg. Stay <b>6.05</b>	Total Admissions 2,230	In-Patient Days 13,502
					Wilkinson
Avg. Occupancy 94.8%	Nursing Home Beds 62	Nursing Homes 1	Avg. Occupancy	Hospital Beds	Hospitals 0
		Total Days 21,464	Avg. Stay	Total Admissions	In-Patient Days
					Worth
Avg. Occupancy 86.9%	Nursing Home Beds 117	Nursing Homes 1	Avg. Occupancy 23.1%	Hospital Beds 50	Hospitals 1
		Total Days 37,091	Avg. Stay <b>9.60</b>	Total Admissions 440	In-Patient Days 4,224